Engineering Mechanics – Statics CE 201-012 (02 & 03)

Solution of Homework No. 01




[image: image1.png]Home work 4l CEZON(ZD

Paoh

Q) Given , the man 0] the TJecked = 250X\0° g

we knpo, 1 5l~na = 14 512E K

man a[ e Yecket w51 Uwit

250 510 X 140 5958 g
= 2(4qb450 ka

265 xpf “

= sy ()

©) N&axk,k} = mam (w) x Atceleyation due to ’aYﬂvlt‘) L'@
= o) x a Kgem
~<3t—,)xm)xa 21 J—;
= 357412945 ~ewton
= 358 x10° Al
= 5.8 M (Am)
Dm = 250x10° Il

i

250x 10 x 145954 vﬁ
= 3 es5x10° k(f]\

Giiven, aw = 530 ft)5v

=53 x03048 ™[5
Srs Mg

m
(5 xtot x 53 XD B04E 0;7




[image: image2.png]@Tm man  0f e ~ockek w o PAME poth v

Eosth &/ Hhe Moon .

Moag)  om 4o waoTW = 250X 10° S
— 250X (67 x 145938 ‘4(?

= 565 M v«a (4&2)

G\ven, 7y = B0 N

Find, Fu =7
Fov =7
<\
Fa
Fu
APPl@”p\a Laws 17 e & to51 WL
F2 _ ,.F_‘:‘_,
oLus 625
> fFu = 260 85 L 427-65 x 434 (Aw)
S 45 -
Aam) f_‘fd = i_Z‘__‘

650 AN

Fo = _5_5%%”;2 - 225 A (Am)





[image: image3.png]Faob. 2-21

6Tiven, Fpo= 950N

Find, 8, Fa @ Fa
When g v R
Fe,
% 20
Fa

fo

(180-20 -6)

//\PPba\w\a Loaws OJ‘ Hine ¢/ C.05 e

Fa ’_E&’/
Ornn O B ég,yéugo—zma)
> = A508&f —O
e (160 -6)
AJ'W) jg’_ = (__EK’—-—-*—-
O 20 é,\',h(_lgo—zo—é))
> fp = M W
S (160-8)

™ 6 60-8)
v Fo i G (16070) = T ST ¢
.

= 6w 90 .
oL —0 = a0
Fiom eq™ (D = Fp = 892 7N v 293 N

- Al
from eq™ (@ = fFp = DZHTN 325 N




[image: image4.png]N (9

) (180-20-8)

Amwa‘wa Laws of Oyme &/ Gaive

ﬂ/ o Fr
o0 v (180-30-0)
- Fp = 10 60O ___,_WGD
o (150-6)

Aaou\'m) Fp . Fr
O30 6o~ (150 -8)

fp = 10820  __ —@®
S (150-6)

Giiven  Fa= 10 KA
Find, 6, Fa,Fa when

Fe u 'rn'n\""’

Foy Fo ™ > gin(150-6) = wan o (15070)

= 1
1o}

)]

150 - 6 = 90
K [9: c,o']
Foom eq™ ) —> Fp = 866 kal

Faom 2 () > Fp = 500 K|







Dr. Saeid A. Alghamdi:


4/4

